KPRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5%), FEBRUARY 2019\

Seat No.
0/7/0/1] ™
Paper No. I Medium : Telugu Time : 1:00pm to 2:30pm
\;?38681 32 First Language and Mathematics  Total Marks : 1%2)

Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of First Language and
in Section I there are 26 to 75 questions of Mathematics. All 75 quesfions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :

QuestionNo.-6 0l 1610

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero” mark.

Example: (1) @ @ &

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.
The rough work is to be done in the space given under each page or on the last page of the question paper.
If you do not know the answer to any question, do not spend much time on it and pass on to the next one.
Ifthe time permits you can come back to the question which you have left in the first instance and try them
again.

Ifyou find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.,
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WE) 100k 3 &K el 80b é@?ﬁgcs*&)l FQ FXH50k. Eok BN (V& DE) & SIrFIs0en

SO HDTEORIN VLRGN, DOGH JLPFTILND ANEI T HEV) e Hohod.

TORYH0 BAES Sy Do §yrnd wid. ST ‘esa"&gib’ © §rE 0.
[T 0T0F BRD T VFTE 0$0F0S” B, SRBHL YA &) 239y 0.
0%05° 0800 K0 DO,

Y 8000, JET0E H08 IFE Hod TENON D000 PHEOKH Hosrd)
EOR0DBT . ©0HY )RV 9 OTV) Pued TE H0D HEIBI0MT BEYOLOT) . &
For SHHe 0 B seg)Egen SENEY SN E )50 BT, & HEOTS vey T8O RoB
HEFDEWED, Soldod, 58w irod’ 208 @wosdIMH. DEVOE &HTHo Hob
T8 raes BAD. SETB HH0S Syt 3 BoH PTG 3508 I E)ipd
FTOH oBINOAL SUBGE .

5 )98 230)0D DBV Fer eroFyPd SOWEoLr &8 HokS DM KT Lo S
08 A0 GG S . ISPB © G Féerd 08 © ke TVHBT ANEB0H, &
& DOBIR NV T RS BIIrod’ @otrd. HTFTHE'W Swowom SN 98 SHTVS’ &
&éy FQE0 28 DBLESD D0S00w%0B.

E)geo o) HOTENIE BodITw?

(1) cScaS5080 (2) 8050850
(3) BSH0FzM (4) $35eH0%50
3

Gl Dokl NHTHS % woird?

(1) Eyrdeso (2) 8)n =330
(3) §nde (4) &rsod
Space for Rough Work
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3. )R Wond TPElM D987

(1) eoedogut (2) SE080k
(3) ToHegodod (4) Sr&oerodocé

©F) 45008 65 S Eod Nohdndh $HD HH) 0K @Twosy (TPa50m.

DHBOH B 2r8S Bowe
ANB0H KH JAG Bos
BIGI00S $63¢ oF
SNBSS oS Vo I INBOR

o aredes - SBBWSSD

0D Horgam - F0YeS 0
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DBErTB - dOBBISW n INO0S i

Bend) Borb - ToBE Do
DENEI0 DS - FEDHoL
X090 QN0 - &gl A68o
éé&iﬁ@fw SRS IR VTARN W 1 DABOK

BESE% - [ Fer TGS

SEE5rE - SodDGDO
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SEST0H - T8 BHPTO n JABOA

4, & Soi Tod8 D) 50?

(1) S (2) sara®o
(3) B (4) 2D
Space for Rough Work
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ey VI8 JOGD Tl oo wod HEoKod.

(1) 8oy
(3) zos

arld Bom Q&)l aﬁgéaoco Eoh?

(1) 28380
(3) 20 SPdoo

(2) D)0
(4) HSgFSHB

(2) &ggo
(4) @5gS0e

Tah By M6 $08 G e HEB.
2 TEod ASHNS H&0 ) erdr I8 BodIR?

(1) 8o
(3) HSTHED

(2) TSI
(4) D8ded0

‘WITFRIO DVPEP T, HORIPE BoHETD.

R TEo W TEEEINIE BohIL?

(1) sy arsgasm
(3) Hoashng TrEgwn

Bod TEgkw ) Poindt Boddd?
R B8 Rairao PRI K.

(1) grésosn
(3) SESrIT 00

(2) D08y orggaw
(4) D& 5

(2) FPIDgey &0
(4) éécgégyoéao

Space for Rough Work
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10. 806 Hrod’ JEIES HSS0 HHowkos.
(1) Socy (2) 8%
(3) scoen (4) QB0
11. 800 TEX0 VNS » ATHVTH ) SHBrHTE?
NF) 0P H90E eI
(1) ! @),
3) . 4) ?
12, @OJ00 e, QR0.
R PED JroowNod.
(1) S (2) esys0
(3) garovo (4) &%
13, 808 J%rdr TEE HEred® J05 wdd HoWk.
(1) DB ST sw - 8w Do (2) Do drTdw - P2 HoD
(3) PO ATT X0 - PO 0 (4) @68 H0g DX - 9 e S0
14. ‘©5.8 ol 00T o TS’ A2
(1) gy (2) g
(3) SH e (4) Deygen
15. F0BS o HTI8 Beoth rad® $T¢H Do I6?
(1) S8°e8 (2) &880
(3) HoBEdn (4) S°Bg8550
Space for Rough Work
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%) 16 L00& 17 & Jrdd: o Jogriem HOR, w&AS |HF) 0K earwown Poio .

200 1 BYHD) 088 [ Ferrdo I Erl TOT SPLIS Sl

BAE 1 TIHX. R0BO 050 & B | DS0pBN DowKOTO.

VG 1 @00 SN0 DIF THONH DIETT ) TR0E0TO.

@808 1 (1) A S5 - DORBO (2) VD °e0Rg0 - ITEF IO HSrTod) HBEL
H00& DEBoTR.

A& : B (i) eorodn Jug FD Srgren, JoE 905 Hoden G)BD DB Dot Boswb,
Terp Sy DG 56 B Jog TR JErTTR) DIFTO H0& VEOoW.

o8 - DD SHORMT 35 BOVS Q& TR N0 Léé)&’)é@@g TREOT0.

s 1 ©oBT. D8 GHDFIT, HBE SAS DT §rE AT Bl

16. & SHHen - DOPEY ILPTOTR) Q5 WEBOTE?
(1) @& (2) 808
(3) e (4) eS8
17. 2 dordnd Jodkh ST %H?
(1) vt (2) e
(3) wrd (4) s
18. ‘widol Hmrd8 SOFS TV hoKed.
(1) S50f (2) oeodH
(3) 5055w (4) oS
19. 806 &S HOG@S KOTE Hre FE HYoNos.
(1) e8hgdm X o8 rgsm (2) 20&FRIN X @030
(3) Dy X FED (4) 59,5 X @B
Space for Rough Work
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20.

558, BEHED HOTo wESENE FrooB0s.

(1) & (2) &
(3) 4) &

&

21, 808 JITOS JHrTrI8 Vo& 1) Moo,
(1) roo (2) o
(3) =g (4) o3
22. 800 Jmed JHOFV wob IR HYoKok.
(1) Sysenden (2) %) OS¢
(3) 8Q&ohen (4) Srdraden
23. oo, red, TR, @, ek - & TN ITHE RS Lo Hhgeriod® Gk
L) ook,
(1) e (2) e
(3) Sorad (4) oow
24, 5 erdoh Jyiisn §od TS 0?2
(1) 8%, (2) Dowrsm
(3) 2EDO (4) DS
25. B e, B XS o ITEIH 250667
(1) 8 435708 7559 (2) &of
3) ordardrd TR (4) Jo°ed
Space for Rough Work
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28.

ES 11

& P Sh 0fv IV T 0 Soke FoP S0 - & Sowg TS W) SHD
Somwg 806 TS’ AB?

(1) 5,09,77,600 (2) 5,09,77,599

(3) 59,77,600 4) 5,97,70,700

0.561 & &T0 ¥ HX) 0 « ok HPT© g woEK?
(1) 0.5 %605 0.56 (2) 0.50 598650 0.60

(3) 0.562 508050 0.57 (4) 0.56 50805 0.57

Beghednd® 3 %Céle‘i)oé)@wocéozéo. ©onE Dok | Bgerodn b 5‘653&26 iééaéagaoé‘
) %cglé’bocsa@wocéazéa?

(1) 6 (2) 4
(3) 2 (4) 1
Space for Rough Work
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26.

27.

28.

Section 11

Which number will occur consecutively after five crores nine lakhs seventy seven thou-
sand five hundred and ninety nine ?

(1) 5,09,77,600 (2) 5,09,77,599

(3) 59,77,600 (4) 5,97,70,700

Between which two decimal fractions does 0.561 lie ?
(1) 0.5and 0.56 (2) 0.50 and 0.60
(3) 0.562 and 0.57 (4) 0.56 and 0.57

A triangle has 3 vertices. If a rectangle is formed joining 2 triangles, how many verti-
ces will it have ?

(1) 6 (2) 4
(3) 2 (4) 1
Space for Rough Work
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30.

31.

32.

W) § BFBE Hoy TOE SR ESe P 2240 ok dhgod 35%@ Sehgen L8
PP ST O. wEIF @ IPS 100% Sgoge Hadh w5, @ SFS Jodod PR Hehgws
P RogTEd?

(1) 1456 (2) 786

(3) 1356 (4) 1256

52 Qogg ) 08) O WE gradin, N8O D) retl8 ) Ty wod?

(1) 26 () 13

(3) 4 (4) 52

5 Sraraho &g 30 B aNd 10 Srarche Fiy I ofowin?

(1) 3 (2) 6

(3) 15 (4) 20

1508 9585 580 Hopgod’ IRV 8 @oTOH HE TV wE),T0 GHRFPHOVS SATEH
N8O DE BRHowg Ok 08O D) $OH0H InGIos?

(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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29.

30.

31.

32.

For Annual General Meeting of Utkarsh Co-operative Society out of 2240 members
35% women share holders were present. If 100% share holders were present, then
how many men share holders attended the annual general meeting of the society ?

(1) 1456 2) 786

(3) 1356 (4) 1256

How many times is the greatest divisor of 52 is that of smallest divisor ?

(1) 26 (2) 13

(3) 4 4) 52

How many notes of Rs. 10 can one get if one gives 30 coins of Rs. 5 ?

(1) 3 (2) 6

(3) 15 (4) 20

Form the greatest six digit odd number and smallest six digit even number using the
digits from 1 to 9 only once. What will be the sum of these numbers ?

(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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3s.

36.

8,055 BOES 510 506,08 SBG BT, ©ond ©EI8 HOES 68% Srty o ST
@ H0§S o Ingo iy o IO ?

(1) 510 (2) 680

(3) 750 (4) 800

33 3 3 ) o

350 g & AN Iwn VI ToE 050G TRXYE D8O G HI) w0 DO N8O

(1) 12 @ =
3 2 @) 1

28 Sopgd ST HBOBEIE T 8W (BN wadnd® 39 &, wons e Howg
D0&?

(1) 14 ) 12
(3) 13 4) 15

w88 BrLoRS JGorr HES VD TES DG SArGH BRIYPE “R” 08w fo S8
ST~ e oy 5333 S’ O egsse JENH?

R
U|lP A
L
I
(D L 2) A
3) 1 4) U
Space for Rough Work
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34.

35.

36.

Onkar passed an exam scoring 510 marks. If he has 68% marks then for how many
marks was the exam conducted ?

(1) 510 (2) 680
(3) 750 (4) 800

What is the difference between the greatest and the smallest fraction if %, %, %, % are

arranged in descending order ?
18 10
(1) 1¢ () <

3 = 4) 1

If a number is multiplied by 8 instead of 5, the product increases by 39, then what is the
number ?

(1) 14 (2) 12

(3) 13 (4) 15

A paper is folded according to the figure and a cubical box is made. Which letter will
be there opposite to the surface with the letter “R” ?

R
U|P|A
1
(1) L (2) A
(3) 1 4) u
Space for Rough Work
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37.

38.

39.

40.

41.

806 TBS' H0T8 D&
(1) 7x8+4=14 (2) 27+3x3=9

(3) 18—13+5=10 (4) 16+5-12=9

T L@ 8 Srdrohe HEE wE '%3336 TP &wg %a2e DY) B IJ) 0§
Erarce FE0 Wi TIPS Dok e FIN. HFnomdhss rl srarche Jin
QNIT TR0 #RHKH D) Srarcher 88hH Q0T

(1) &, 46 (2) & 34
(3) &>, 4 (4) & 25

Sodow PHIH B LoNE)T8 8PS0 Tdo TIPS 2500 &m0 6Ivw Fdo SeSm $68
9B, WO 6I00 TS HS HEE o $& %2

(1) 100 &, (2) 500 &,

(3) 200 &, (4) 600 &,

26586 5050 'R0 Do KO HE© 3‘;26533@"&) ®OoTw @(;&)é QWD Foodh 0 OASN Dok

00 HEe FHHWT'I @oTY PI Jeodw IndLwod’ Jod FELn Kok?
(1) 5920 (2) 5500
(3) 6660 (4) 6080

HiS38 52 Qs)ébé Fod 2184 Srarchods %93)&23{58 088 364 Srarchhen ordio 3’):533263.
WS NHITE Tod DL V) Irdche FHPS FIHN?

(1) Rs. 1820 per litre (2) Rs. 45 per litre
(3) Rs. 42 per litre (4) Rs. 35 per litre
Space for Rough Work
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37.

38.

39.

40.

41.

Which of the following expressions is wrong ?
(1) 7x8+4=14 (2) 27+3x3=9
(3) 18-13+5=10 (4) 16+5-12=9

Joseph bought half a dozen pencils at the rate of Rs. 3.50 per piece and 2 pens at the rate
of Rs. 12.50 per pen. If he gives Rs. 50 to the shopkeeper, how much money will he get
back ?

(1) Rs. 46 (2) Rs. 34
(3) Rs. 4 (4) Rs. 25

Rutuja gave Pranav Rs. 2500 on simple interest for 6 months at the rate of 8% p.a. How
much interest will Pranav pay to Rutuja for 6 months ?

(1) Rs. 100 (2) Rs. 500
(3) Rs. 200 (4) Rs. 600

What is the difference between the sum of the place value of the digits in thousands and
tens place in the number 26586 and the sum of place value of digits in the hundreds and
tens place ?

(1) 5920 (2) 5500
(3) 6660 (4) 6080

Magansheth sold 52 litres of milk for Rs. 2184 and earned a profit of Rs. 364. Find the
cost price of milk per litre.

(1) Rs. 1820 per litre (2) Rs. 45 per litre
(3) Rs. 42 per litre (4) Rs. 35 per litre
Space for Rough Work
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42,

43.

44.

45.

46.

w8 &gﬁ@;d@wcﬁ@ GO 286, IELNY SLJP 4. 208350 3. FoB. & SSKS KOS
40 0.0, ghadn o BRI T7¢0) BRGHOR BN T © HOS' I TP Hep?

(1) 50 (2) 100
(3) 75 (4) 400

30 0. D6 Ho TN 5L VETS SrSsnd §80005E Tod eriiswe P8 Dos?
(1) 6. (2) 10 &.

(3) 5. (4) 18 .

32321, 32312, 32231, 32123 & Jogpgo 3T (E0INS' TIHE IEE $Hddsn
LGS Jowgw InGo Jod?

(1) 64435 (2) 64444
(3) 64552 (4) 64543

28 B 400 SrEPoRo% BHYH %Béag oo T, BN © B F) Jo J08?
(1) 150 &, (2) 550 &.

(3) 250 &. (4) 350 &.

Fad 8 T >y D& Twn Tk, Db o 8 508r. FHPS ey Sod® e I
Srrdhe o ey SNR?

(1) &. 375 (2) &». 3875.0
(3) &». 375.50 (4) &». 387.50
Space for Rough Work
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42.

43.

44,

45.

46.

The length and breadth of a rectangular room is 4 m and 3 m respectively. If this
class room is to be tiled with square tiles whose side is 40 cm, how many tiles will be

required ?
(1) 50 (2) 100
(3) 75 (4) 400

30 m long rope is cut at 5 places. What will be the length of 2 pieces ?
(1) 6m (2) 10m
(3) Sm (4) 18 m

What will be the sum of the first and third number if the numbers 32321, 32312, 32231,
32123 are arranged in descending order ?

(1) 64435 (2) 64444

(3) 64552 (4) 64543

3
When a shirt is sold at Rs. 400, the profit earned is 3 times the selling price. What is

the cost price of the shirt ?
(1) Rs. 150 (2) Rs. 550

(3) Rs. 250 (4) Rs. 350

Everyday, Roshni buys % litre of milk. What will be her bill amount for the month of

August if the rate is Rs. 50 per litre ?

(1) Rs. 375 (2) Rs. 3875.0
(3) Rs. 375.50 (4) Rs. 387.50
Space for Rough Work
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47,

48.

49.

50.

8od oD H0800D rdYesnd HT) el)BI SHmoss.
O+ S, + % O, % O+, ... 2.

() O+ % @) +O%
3) O* + (4) * +[1

e SHS Iwgo Sdey YT worR. T8 Hok e -;' Qo0& YIT 0 e K Lok

%aﬁoéo DHT 0 (Peiofd AW, WoNE WD I¢ I PYJTW DHD?

(1) 60 ) 12
(3) 18 4) 30

3508 900 Sr&raho KBRS0 EIH. B HTHOTHE 1087, 2057, 50 &, S0k
100 8. S SISO aB)w. wowd Bs 20 &, FeH ) BBYP?

(1) 20 (2) 4
(3) 5 4) 10

$0¥ 6016 %) InH 0 T BV, (P8 SHIS & 47 I8 0 PHXR. oS I
o8, 0 Sder ERPSHE?

(1) 128 2) 118
(3) 108 (4) 228
Space for Rough Work
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47. Complete the sequence observing the pattern. Choose the correct option.

48.

49.

50.

O+ %, + % [, x [+, .2
(1) O+ * (2) +0 %
3) LI+ 4) *+[

Pradnya had 5 dozen copies. She gave half of the copies to Anushka and —é— times of the
copies to Prajwal. How many copies are remaining with her ?

(1) 60 (2) 12

(3) 18 (4) 30

Shrikant bought a watch at Rs. 900. He gave equal number of notes of denomination Rs.
10, Rs. 20, Rs. 50 and Rs. 100. Find the number of notes of Rs. 20 that he gave to the
shopkeeper.

(1) 20 () 4
(3) 5 4) 10

Mangalakaku purchased 6016 saplings of lemon. She planted 47 saplings in each row.

How many rows will be formed of those saplings ?

(1) 128 | (2) 118

(3) 108 (4) 228
Space for Rough Work
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51.

52.

53.

54.

55.

480 0.0, = A BE D&

(1) 4.8 (2) 0.48
(3) 48 (4) 0.048

5 6990 ORETE0 BoBM. wod @ I & FEIN 5IE T°E?
(1) HETSE0 (2) DTS5

(3) sdIs (4) PHT G0

w8 &Y WEGRDI0 Bk Y 8 Bdoner SO 12 00.20. L0005» 8 0.0, HOY).
WONN @ ég BEG0 HERPOBK SIS HépPod o JHI K0 BNE) Tw0 Jod?

(1) 24 5. 230.%%. (2) 40 . 0.5,
(3) 100 5. 0.3, (4) 96 5. 20.20.

FLA & 20 swo TIIRS SHIP J woTew $i)c?

g8 # 2 AL

— sk 5 [ 2 3

4 s 04
(1) 3,7,9 (2) 9,7,3
(3) 7,9,3 4) 9,3,7

$ JoSHTIE Fod $§ Téo PSo TIPS 5000 &r. 0 3 JodSTeH 1350 &r.0
T 36 wonsT $& Teo Jos?

(1) 5 (2) 8

3) 9 4) 7

Space for Rough Work

0701 -A 20032 P.T.O.




51.

52.

53.

54.

55.

480 em = ? Decameter.

(1) 4.8 (2) 0.48

(3) 48 (4) 0.048

Sth January is Tuesday. Which day of that month will not occur 5 times ?
(1) Friday (2) Saturday

(3) Sunday (4) Monday

The length and breadth of a rectangle is 12 cm and 8 cm respectively. What will be the
area of square whose perimeter is equal to the perimeter of the given rectangle ?

(1) 24 sq. cm (2) 40sq. cm
(3) 100 sg. cm (4) 96 sq. cm

Which numbers will occur in place of % [JA ?

g k2 A O

-k 502 3

4 0504
(1) 3,7,9 (2) 9,7,3
(3) 7,9,3 4) 9,3,7

What will be the rate of interest if Rs. 5000 fetch Rs. 1350 as simple interest after 3
years ?

(1) S5p.cp.a. (2) 8p.cpa.
(3) 9p.cp.a. (4) 7p.c.p.a.
Space for Rough Work
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56.

57.

58.

59.

L, X,V,D,C,M & 35S dopgon e@ddirn §nd' oahod.
(1) V,X,C,D,L,M 2) V.X,L,C,D,M
3) C,D,L,M,V,X 4) M,D,C,L, X,V

¥ 0w T RSENY Do&d 53w TPASON DoBoh FEH dHAEPAoND 0 36 THS S0
ool Wakoki BEFRR. wons W) TAg e DHOID?

(1) 324 Ao (2) 360 =AsdSnen

(3) 320 s°ASS0e0 (4) 28 ey

T8, T8, 306 5008 HiHch & ) IrETe) SHTTCINS' DevihosO. T B8 w08
BHW FoPd ol Ingo INTE Bowo Feoddwo?

1) 3 ) 4

3) 5 ) 6

Bob TBS 5P ITSIN HYoH0s.

(1) @ DopgRs 18 iy ©F dowg esarzom S,
(2) 2 DowgId wd Dopgd A BT D) STy,
(3) & JopgRd ©Bd DowgH TN Y BT WEB SIS

(4) resgdan S80S eriHOBNY OPBNIE kD EODIT gresgdn He8a)R0.

Space for Rough Work
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56.

57.

58.

59.

Write the roman numerals L, X, V, D, C, M in descending order.
(1) VX,C,D,L,M (2) VX,L,C,D,M
(3) C,D,L,M,V, X (4) M,D,C,L, X,V

Out of 1 ream paper 5 quires were used for printing and 36 papers were wasted during

printing. How many papers will remain ?
(1) 324 papers (2) 360 papers
(3) 320 papers (4) 28 dozen

Gauri, Hamida, Mary and Ishwari are friends. They are standing in a circular manner.
They can shake hands with each other only once. How many times will the hand be
shaken ?

(1) 3 (2) 4

(3) S (4) 6

Find the incorrect statement from the given alternatives.

(1) When any number is divided by 1, quotient is the same number.
(2) When any number is divided by itself, quotient is zero.

(3) When any number is divided by itself, quotient is 1.

(4) When remainder is added to the product of divisor and quotient, one gets dividend.

Space for Rough Work
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60. 80& TBS D I Iw BB JProdd HI)INSK VIPIWH HIH) BN BPHoWD?

OF-

(3) 22

@ 2

60

@ Too

61. Jepd PWErETY SHrG BEETIE Tok wEhdo W8 FEToLH 15,08,980 SrEraswd
BRTI0 ATLOD FGOROWN. 539“350""@6‘ 168 P80 O Igo ) SrPrdhe @mNo

a’zaﬁsé@f’o wodnod?
(1) 2,41,43,680 &

(3) 2,71,61,640 &,

(2) 25,35,08,640 &o~.

(4) 10,26,10,640 &

62. w000 7.30 300528 rETOX XDi)Qé HTR DETw 5008 330 SnARL0w éU"Seﬁ K088
WORLNR TN, WoND BE PETL 008 0B « I0000S DEHLBI?

(1) D&E0HE Hobesd

(2) oS fobeos

(3) e880B8 (4) DL Kobo’
Space for Rough Work
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60. Which of the following alternatives indicate the equivalent fraction to the shaded

61.

62.

portion in the figure ?

() 32 @2
45 60
3 2 @) o

Central Government granted aid Rs. 15,08,980 towards the provision of Science
Laboratory per school. How much aid will be required for 168 schools in Maharashtra ?

(1) Rs. 2,41,43,680 (2) Rs. 25,35,08,640
(3) Rs. 2,71,61,640 (4) Rs. 10,26,10,640

Nilesh came to school at 7.30 in the morning. After 330 minutes in school, he started
for home. At what time did he start moving home ?

(1) 11.30 a.m. (2) 10.30 a.m.
(3) 1 o'clock (4) 11 o'clock
Space for Rough Work
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63.

64.

6S.

606.

67.

68.

B 3 ey 2000 So58) 80 awgrso Fard aoBp. wond e 10§ YPITe
D TEB0 wOoBIH?

(1) sddo (2) BFoaso
(3) SonFgarso (4) 3d5°80

FORr Dfﬁf’%@c% wirsd® 2012 Jond® PEGE &q’j@s 3,17,528 X00b e Hdw
©R0H8 B 2,04,537 H0b HyoH FOSRr &S sl @dhod. wond Ingo Jod
508 YO FORr FO aNTE?

(1) 5,22,605 (2) 5,22,607
(3) 5,22,065 (4) 522,705

0658 ATEEaRed® Dok Jo Vo Sodw P ok TR FRRT). &
RORPLRL WOSTBGR Jogrg W) Iwd® Jer TNEE?

(1) 22250 (2) R340
(3) Yo (4) 2250
SJ ok Hode g S 12% Jewod Jos?

(1) 1500 (2) 144
(3) 150 (4) 200

200 15,980 8. ©& e, 20,740 &r. o8 BOJeSH FIH. @ 2000 Srdrchow Séy 19
KT RomEE W) WoNS K oK 2T W) 10 Srdrahe Jh 8oh YiiwR?

(1) 1280 (2) 228
(3) 2280 (4) 128

SFwrd 32,000 Srrohod ol QX FIWN DO I 8ol BRHTIFTIE ST
&) 1500 Srien @dBgh. 3 Jvw $0%E wsi 35,300 Srrchols e DR @I,
©oNS & HIFEINS FIP T ) EPPHY g0 w@dh?

(1) 3300 .0 (2) 1800 8.
(3) 3000 .0 (4) 1500 &.en
Space for Rough Work
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63.

64.

65.

66.

67.

68.

Chaitali was born on Wednesday 3rd August 2000. What will be the day on her tenth
birthday ?

(1) Sunday (2) Monday
(3) Tuesday (4) Saturday

Under Polio Eradication Campaign 2012, in Nagpur district 3,17,528 children were
vaccinated and in Amravati district 2,04,537 children were vaccinated. How many chil-
dren were vaccinated in all ?

(1) 5,22,605 (2) 5,22,607
(3) 5,22,065 (4) 5,22,705

“Two and a quarter thousand” students study in Gurusmruti Vidhyalaya. Express this
number in International numerals.

(1) 22250 (2) 3340
(3) R340 (4) 2250
12% of 1250 = ?

(1) 1500 (2) 144
(3) 150 (4) 200

Swara purchased a fridge at Rs. 15,980 and a T.V. set at Rs. 20,740. She gave 19 notes of
Rs. 2000 to the shopkeeper. How many Rs. 10 notes will the shopkeeper return her ?

(1) 1280 (2) 228
(3) 2280 (4) 128

Nanasaheb purchased an ox for Rs. 32,000 and he had to spend Rs. 1500 on transporta-
tion to take it home. After 3 months he sold it at Rs. 35,300. How much profit did he
earn in this transaction ?

(1) Rs. 3300 (2) Rs. 1800
(3) Rs. 3000 (4) Rs. 1500
Space for Rough Work
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69.

70.

71.

72.

312 + 706 + 344

1009 " 2018 " To0g  ~°%?

1362 v 1362
(1) 2018 (2) 4036

2018 2018
3) 2009 (4) 2018
55080 +3H5%eww + 7 8To%o +8¥8°080 = o ?
(1) 530.078 (2) 530.78
(3) 53.78 (4) 503.078
@oTo 2§ O QL) BUdowy DO N8O NG wEoTY HVJoWL INGo V0BT
(1) 109999 (2) 1099999
(3) 999999 (4) 99999

@l Do wod TUPE - wRTIE HEs Ho 150 8.0, Grord) S Hoke KO
QnRned Koirdo. wond ¢ B wod AR I EPrl - e g Ko
250 8.20. &80 RATBoBOE Qod Do QéRR?

(1) 2 fowo 15 DdndB0ne
(2) 3 How® 25 DENS50
(3) 5 K0&® 25 DENNEN

(4) 4 fove 15 Jdnds0en

Space for Rough Work
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69.

70.

71.

72.

312, 706 344 _,
1009 ~ 2018 = 1009

(1) 3322 @ 22

(3) 222 @) 2o

5 thousand + 3 tens + 7 tenth + 8 hundredth=?

(1) 530.078 (2) 530.78

(3) 53.78 (4) 503.078

What is the sum of the smallest six digit odd number and the greatest six digit even
number ?

(1) 109999 (2) 1099999

(3) 999999 (4) 99999

A car covers Nagpur - Amravati 150 km distance in 3 hrs and 15 min. How much time

will it require to cover a distance of 250 km of Nagpur-Akola with the same speed ?
(1) 2 hrs. 15 min
(2) 3 hrs. 25 min
(3) 5 hrs. 25 min

(4) 4 hrs. 15 min

Space for Rough Work
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73, 200000, ghwsin o BS80S Taro8d griin BwE), BTogo §oiPked.

(1) 400 5. 0.o0. (2) 100 20.2.

(3) 200 3. 20.2. (4) 150 5. 0.2,

@. 74 & 75, §ob YESrIIN ISTO SFIOM PWH VK 2Tw R0k,

5363"563©§3 CESESTEJRSPCIOM VLY Z)Wgégo Sowg
B0 QOO
So0d ©O O
Depida0 © O
DB ©000

Rdremo : 1 O Y@ = 6 dargdaen

74, QEErHENS Ingo Qo8 Hod TR T W adgedod?

(1) 13 (2) 68
(3) 76 (4) 78
_/
75, Qepd 0Ho AP AEgRHo Howg 508 8BS DAcho IR TR Howg o8 8D
Hode? :
12 2) 12
(3) 24 4) 8
Space for Rough Work
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73. Find the area of the shaded portion of the square whose side is 20 cm.

(1) 400 sq. cm. (2) 100 cm.

(3) 200 sq. cm. (4) 150 sq. cm.

Q. 74 & 75. Answer the following questions using the pictorial information.

Subject liked by students | No. of Students
Maths ©OOO
Marathi ©©O
Science © O
Drawing ©OOE

Scale : 1 © =6 students

74. What is the number of students about whom the information is given in pictorial

diagram ?
(1) 13 (2) 68
(3) 76 (4) 78

75. By how much is the number of students liking Maths is more than that of the number of

students liking science ?

(1) 2 @) 12
(3) 24 (4) 8
Space for Rough Work
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